Insulation Set(Isolation Kit) Products

Insulation Material Insulation Gasket Max. Temp. (°C) Insulation
ltem . Resistance
Sleeve Washer (JIC Code / Material) Pressure Class (Ib) Q)
JIC 8305 +100~100 over
PTFE Solid Gasket 150 20x10
-200 ~ 200
JIC 8305G 1.3 x 10"
Reinforced PTFE Gasket 300
-30~120
JIC 9020-CP oR
Neoprene Faced Phenolic Gasket 150 16x10
JFTFE gy |J1C 9210-ER 40 ~150 o
General | [1Epoxy STARTEC™ Gasket 20x 10"
O Phenolic | (Glass Reinforced Epoxy Plate 600 :
1 Phenolic Gasket with Rubber O-Ring)
JIC 9220-PR -40 ~150
STARTEC™ Gasket R 9"7”01“(‘)9
(Reinforced Phenolic Plate 600 g X
Gasket with Rubber O-Ring) B
E
JIC 9230-ES 60 ~150 R
STARTEC™ Gasket NBR
(Glass Reinforced Epoxy Plate 1.3x 10"
Gasket with Rubber O-Ring) 600
EQ : PIKOTEK PGE TYPE
JIC 9310-0S 150
STARTEC™ Gasket
O Mica (Epoxy Faced Metal Plate with )
O Mica Rubber O-Ring) 1500
Hiah OPTFE EQ: PIKOTEK VCS TYPE
Prgssure O] Epoxy [ Epoxy
] Phenolic '-“c 93TM20'OS 150
[J Phenolic STARTEC ™ Gasket 1
(Epoxy Faced Metal Plate with Quar 2y
PTFE Seal) 2500
EQ : PIKOTEK VCS Type
High Temp O O ch 3850'SE(HT) 1000 9.9 x 10"
&Pressure ca ‘@ KAMMPROFILE Gasket with 9%
STARPITE® 2500

* Without Flange application for line application purpose, please contact our Tech team first.
* PTFE material does not recommendable by creep to FR Type Gasket / Washer.

Technology for a better human life

Seeking to Harmonize Industry and the Environment

J GS JEIL E&S CO,, LTD. www.jeilens.co.kr

=

B YA R4S 39-5
Tel 055-383-1301
Fax 055-383-0853

HEAD OFFICE & FACTORY
39-5, Yusan-Dong, Yangsan-
City, Kyungnam, Korea

Tel 82-55-383-1301

Fax 82-55-383-0853

b33
(=]

H

tolr
Ok

F7|= A oi=H 42| 667-6
OH=ARAER| 3B 3L

Tel 03-357-6751

Fax 031-357-6754

HWASEONG OFFICE &
FACTORY

(3B 3L Mado IND.Complex)
667-6, Ssangsong-Ri, Mado-
Myun, Hwaseong-City,
Kyunggi-Do, Korea

Tel 82-31-357-6751~3

Fax 82-31-357-6754

E-mail : jeil@jeilens.co.kr

MEARL

HESHA| STH7 WOIS 186
Tel 02-413—-6090
Fax 02-413-6493

SEOUL OFFICE

186, Bangyee-Dong, Songpa-
Gu, Seoul, Korea

Tel 82-2-413-6090~2

Fax 82-2-413-6493

oA A

e oAl 71 92-7
Tel 061-685—1150
Fax 061-685-1151

YEOSOO OFFICE

92-7, Shingi-Dong, Yeosoo-
City, Cheonnam, Korea

Tel 82-61-685-1150

Fax 82-61-685-1151

150 9001&1SO14001& K-DITSVS 18001
(Cert,No : QVIS-0698, EMS-071, 155-0089) I/%
[f D Lo
KAB))
KSA 2| o B
o ey e

X}
o

ot
Ok

L=

o

= WA SIS
(M= MY LS HE FEHSA
&5 B R TR
(EBEEBHHRTRAR)
Tel 86-532-8513-6021

Fax 86-532-8513-6020

QINGDAO OFFICE &
FACTORY CHINA

Haibin Factory Complex,
Jiaonan-City, Qingdao, China

It's Creative‘q

Technology

g Ml h
i~ - "
o 1 TN §

l.l| f’l@g‘:im —i ) @

J

[
UNSUILATION SETS

Date: Sep. 30,2013

Rev.No: 1

e " ok

L
. 2

4 -
15 = ;

- HIYERSTA
JEIL E&S CO.,LTD

O|AL



JIC 7700-R
JIC 7700-F

TYPE ‘R’ - Raised Face
TYPE ‘F’ - Full Face

JIC 7700-RJ TYPE‘RJ'-R.T.J

Insulation sets are used for pipeline flange corrosion protection and for complete

electrical insulation protection where a seal is required between dissimilar flange
materials. There are three standard styles available to suit raised face, full face and ring

grooved flanges.

K|Stk Xt Afole] 71X 2SS 2I5IH AREst= MIE. X[SHHi2S
o

fm

5t Xl

o
o= HRE MG A3 2 ot 0IF LfSHE YKo, TRz Clet X[stfd= H

0I5AHEZ HZTE e 7 |X 0[2RAS YKL,

Insulation Gasket

T \ Insulation Sleeve T \

Nut Stud Steel
Bolt Washer

[Standard Styles of Insulation Sets]
Raised Face Type

00

Steel  Nut

Insulation Washer Washer

1/8” thick plated steel washer
1/8” thick Insulation washer _>_£
Full length Insulation sleeve\E

Inner Bolt Circle

1/8” thick Insulation washer
1/8” thick plated steel washer

1/8” thick plated steel washer

1/8” thick Insulation washer i

Full length Insulation sleeve ﬁ

Full Face gasket

1/8” thick Insulation washer
1/8” thick plated steel washer

1/8” thick plated steel washer
1/8” thick Insulation washer
Full length Insulation sleeve
Insulating oval Ring Type Joint
1/8” thick Insulation washer
1/8” thick plated steel washer

@ Stud Bolt
© Insulation Washer
O Steel Washer

@ Insulation Sleeve

@ Insulation Gasket

Insulation Gasket Max. Temp. (°C) Insulation
(JIC Code/Material) Pressure Class (Ib) | Resistance (Q)
PTFE Solid Gasket 7100~100 Over

13
JIC 8305 150 20x10
Reinforced PTFE Gasket -200~200 g
JIC 8305G 300
Neoprene Faced Phenolic Gasket -30~120 CR
JIC 9020-CP 1.6x 10
150
STARTEC™ Gasket (Glass Reinforced -40 ~150 EPDM
Epoxy Plate Gasket with Rubber O-Ring) 20x10®
JIC 9210-ER 600 ‘
R
STARTEC™ Gasket (Reinforced Phenolic -40 ~150 Ul viToN
; Plate Gasket with Rubber O-Ring) B 9.7 x 10°
JIC 9220-PR 600 B '
E
STARTEC™ Gasket (Glass Reinforced -60 ~150 R
Epoxy Plate Gasket with Rubber O-Ring) NBR
EQ : PIKOTEK PGE TYPE 1.3x 10"
JIC 9230-ES 600
STARTEC™ Gasket(Epoxy Faced 150
Metal Plate with Rubber O-Ring)
EQ : PIKOTEK VCS TYPE i
JIC 9310-08 1500
STARTEC™ Gasket (Epoxy Faced Metal 150
Plate with PTFE Seal) Over 2.0 x 10"
EQ : PIKOTEK VCS Type ) ver=9x
JIC 9320-0S 500
. ® 1000
KAMMPROFILE Gasket with STARPITE 9.9 x 10"
A JIC 3850-SE(HT) 2500 '

* Without Flange application for line application purpose, please contact our Tech team first.
* PTFE material does not recommendable by creep to FR Type Gasket / Washer.

Bolt / Nut / Sleeve / Washer

Insulation Resistance (Q) ‘ Max. Temp. (°C) ‘Thickness

Glass Reinforced EPOXY Over 2.0 x 10" 150
) Phenolic 22x10° 180

Insulation Sleeve 3 0.8T~1.0T
PTFE Over2.0x 10 100
Mica 9.9x10" 1000
Glass Reinforced EPOXY Over 2.0 x 10" 150

Insulation Washer | Phenolic 2.2 x10° 180 3.0T
Mica 9.9x10" 1000

Steel Washer Carbon Steel N/A N/A 3.0T~5.0T
Stainless Steel N/A N/A ’ ’
A194 Gr.2H (ASTM) N/A

Nut

(Heavy Hex Nut) A194 Gr.8 (ASTM) N/A N/A -
A194 Gr.8M (ASTM) N/A
A193 Gr.B7 (ASTM) N/A

Bolt

(Stud Bolt) A193 Gr.B8 (ASTM) N/A N/A -
A193 Gr.B8M (ASTM) N/A

* Insulation Resistance(QQ) ASTM D257-07 :

Usage Voltage : 1000V,
Capacity of Tester : 2.0 x 1013 Q

* Gasket type confirmed by customer.

= For Specific size & application
recommendations consult JEIL.

* PTFE Gasket : Not suitable for FR type.

* Insulation Resistance(Q)
ASTM D257-07: Usage
Voltage: 1000V, Capacity of
Tester: 2.0 x 10° Q

* Steel Washer, Nut, Bolt :
Special Material can be available
as customer's requirements.

Insulation Set (Isolation Kit) X% X

1. Tools required

Specific tools are required for cleaning and tensioning the
fasteners. Additionally, always use standard safety equipment
and follow good safety practices.

a. Calibrated torque wrench, hydraulic or other tensioner

b. Wire brush (brass if possible)

c¢. Helmet, Safety goggles, Lubricant

d. Other plant-specified equipment

g

Fasterner 2| Cleaning 2! XQl, 2212 2I5t0{ EHs =77} ZQ35|Ct.
A 1 O THIE A5t QN RIS E4610{0F SiCt,
ZuyE E2THX| Y RY =2 7|E} Tensioner

. 210|0f E22{A| (7tsotH S/7EIMIE)

ol HotA, FEk|

. 7|Et SEOIM XI-Est A

—_

Qo0 oW

2. Cleaning
Remove all foreign material and debris from

2 A
" O—l-
OI2E X ThliES HA otk

3. Examine

a. Examine fasteners (bolts or studs), Nuts and washers for
defects such as burrs or cracks. Check insulating washers and
insulating sleeves are torn or cracked.

b. Examine flange surfaces for warping, radial scores, heavy tool
marks, or anything prohibiting proper gasket seating.
Make sure the gaskets are isolation gaskets.

c. Replace components if found to be defective. If in doubt, seek advice.

3. AL

a. Fastner (BEE £2 AFL) HE 2l oI S| Azl B2 4l Zo| 72t E&
Z2 ZS0{RE ZASIT EH7|S0| Zeeh Al ANt Hose|E
7 BT 22, AT 220| Sl=X] ZEHFEE BAFIC

b. STHX| EHO| MEst 7IAT |E HEE YWelisl= FIEE, radiel 22 &71
X=0| SA=X| BAFSICE 7HAT|ETH HATIS0| U= 7HAT[EQIX| SfQlstt

c. ZYER0| UAZ|H EES HRECE oM L= &o| UoH MO|EE Sirt,

=

. Install Gasket

. Ensure gasket is the specified size and material.

. Examine the gasket to ensure it is free of defects.

. Carefully insert the gasket between the flanges.

. Make sure the gasket is centered

etween the flanges.

. Bring flanges together, ensuring the
insulation materials (insulation sleeves,
washers & gaskets) aren’t pinched
or damaged.

f. Put insulation sleeves on the bolts and

insert insulation washers and

steel washers.

©® OQ O T

TRAT B

JtAZe| Hel RS Slolplct,
SHUX| Aolofl 7iA%E A 7I2CL
. 7tAZI0| SEHX| MIE S20 ARIF=X| &flsict
. EUM(ES £2I8, ANt TIATF HR
TNXIAL EE=X| L= 2QISHHA FARBICE
f. SE0l| 22 52|25 FAGI YEA| 2H AME A ofM OHZ0]| A

© 00T~

ol

tc

F

5. Install and tighten fasteners

a. Always use proper tools
Calibrated torque wrench or other controlled
tensioning device

b. Consult your gasket manufacturer
for guidance on torque specifications

c. Always torque in a cross bolt
tightening pattern.

. B487 Y3 x

A =5t 7|7 ARBBIC,
£23 X2 Ohfoll BisHA= 7IAH HELHI} Aofsict,
2= RN B4 2N WEF SAfR B,

oo oo

6. Tighten the nuts in multiple steps

Step 1. Tighten all nuts initially by hand
(Larger bolts may require a small hand wrench)

Step 2. Torque each nut to ~30% of full torque

Step 3. Torque each nut to ~60% of full torque

Step 4. Torque each nut full torque, again still using the cross
bolt tightening pattern (larger diameter flanges may
require additional tightening passes)

Step 5. Apply at least one final torque to all nuts in a clockwise
direction until all torque is uniform (Larger diameter
flanges may require additional passes)

3. Cieb e XY

1D, BE HES MSol= 0= xoict,
(2 BEL N2 HSUXIS NSE 4 U0

251, 309HR| 2t HES xolct,

3£V, 60%IHR| 2t HES FoIc

4EVA. THZEM A2 25| HES Kol
(77 BRI 2712 £YS F0t)

SEVI, BE E257t FUSHA B WKl AILEeE
gE2 #F™o= Kol

0

7. Re-Tightening

A. Caution
Consult yours gasket manufacture for guidance and
recommendations re-tightening.

B-1. Do Not
Re-torque elatomer-based, non-asbestos gaskets after
they have been exposed to elevated temperature unless
otherwise specified.

B-2. Re-torque fasteners exposed to agrresive thermal cycling.

B-3. All re-torquing should be performed at ambient temperature
and atmospheic pressure.

4. =Y

A FO| - TR0 2ot oL S FOIARI] Botidt= ZHAZ HZER|2t ofpit

B-1. 22| #E=0] U] EoH H5E 20 =EE 20l= 1R R
HIMEH ZIAZ2 MEYJS SIX| =Ch

B-2. it g0l L2 E ZYRE2 MEYUS Bt

B-3. 2E MZY2 i7[2= & Ch7|ollA 0F0{x{0F BiC.

L

ool

rin

8. Notes on use

Install a protective cover on insulation sets to prevent exposure
on rainy days.

Note : Pay attention Insulation set of Mica material in particular.

8. ALZA| 2| At
HAMNES| MRS HSFHHE MX|ot0] 0| =EE=|X| L= SiCh
Mica Sleeve, Washer, Gaskete| A2= £5| 2|2 Q85I



